
1/4MILE 450

0 10 20 30 40 50 60mm

Nr 1

91,0h

12

3

6
SMILE

SMILE

x3

000181

001655

6 5x 0

8x40

x3

x6

000089

fi7x70

x1

000093

4

x3

001489

M4x20

x2

000692

M5x20

x1

005771

x3

005772

x2

005776

M5x35



?

+

+

MoTu We Th Fr  Sa  Su

1    2    3    4   5

6   7   8   9   10 11  12

13 14  15 16  17 18  19

20 21  22  23  24 25 26

27 28  29  30  31

+

+

2/4MILE 450



3/4MILE 450

1 2
x3

000181

x6

000089

fi7x70

x1

000093

4

x3

001489

M4x20

x2

000692

M5x20

x1

005771

x3

005772

x2

005776

M5x35

000093

000089

000181

m
in

m
ax

+

+

-

-

+

-

1

005776

005776

000692

000692

001489

005772

005771



3

4/4MILE 450

!42
8f

31

288mm

001655

001655

288mm001655

6 5x 0

8x40

x3


